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BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:45 90 70.0 BA| {Ri%@07:45 Fz (RAEEE)
08:45 90 70.0 FA| 1BRi%@08:45 F ) (KAFEREE)
10:00 90 70.0 FA| 1BRi%@10:00 F3h (KRAEREE)
11:10 90 70.0 FA| {Ri&@11:10 Fz CGRAEREE)
12:15 90 70.0 FH 1BRige12:15 Fzh (GRAERESE)
13:15 90 70.0 PH| {Ri%e13:15 Fri (RAERESE)
14:30 90 70.0 (2 =| 1RiB@14:30 Fzh (REAEEE)
=3t| 630.0 (7% 490. 0 3EGHKEC: 2000.0, PH: 6.5

LRGERRET € (90) SR (109. 0)
ZRINKPRIEBRLS8. 0 ml.

large discrepency for begining water status (128:54.0), set to 114.0 ml.
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